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eess BIT MODEL PARAMETERS /

Qbreakn  Q2N2222

NPN
IS 100.000000E-18 14.340000E-15

BRan 2559 g port ¢
1

NF 1

VAF 24.03

IKF 2847

ISE 14.340000E-15
NE 1307

BR | 6.092

NR 1 1

RB 10

RC 1

CIE 22 010000E-12
MIE 3n

cic 7.306000E-12
MIC 3416

F 411.100000E-12
XTF 3

VTF 17

ITF 6

™ 46.910000E-09
XTB 15



+ OPERATING POINT INFORMATION  TEMPERATURE = 27.000 DEG C
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++++ BIPOLAR JUNCTION TRANSISTORS

NAME QQ QQ2

MODEL Q2N2222 Qbreakn

B 465505 4.S8E-05

IC  9.03E03 9.17E-03 o 7 c/
VBE  70IE01 832E-0] /)

VBC  -9.30E+00 -9.17E+00

VCE  LOOE+01 1.00E+01

~3 BETADC 1.94E+02 2.00E+02
GM  3.40E-01 3.54E-01
RPI  S99E+02 5.64EH02
RX  1.00E+01 0.00E+00
RO 923E+03 1.00E+12
CBE  1.78E-10 0.0E+00
CBC  301E-12 0.00E+00
CIS  0.00E+00 0.00E+00

~2 BETAAC 2.04E+02 2.00E+02
CBX/CBX2 0.00E+00 0.00E+00
FT/FT2 299EH08 S5.64E+18
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e
Philips Semiconductors Product spacification
NPN switching transistors 2N2222; 2N2222A
CHARACTERISTICS
‘ ——7 T)=25°C unless otherwise specified.
Moy Yure | SYMBOL PARAMETER CONDITIONS MIN, | MAX. | UNIT
lcao collector cut-off current
2N2222 le=20;Vea =50V - 10 nA
|E=Mowrm-1so°c - 10 pA
lceo collecior cut-off current
2N2222A lg=0;Vep= 60V - 10 nA
IE-O:VQLSOV:T.,..;,=150°C - 10 pA
emitter cut-off current Ic=0;Vea=3V - 10 nA
hre DC cument gain lg=0.1 mA:Vc_g_iwv 35 -
- lc=1mAVes S 50 -
éﬁ‘" ) 7 /,-.CICMO Ve = 10V —» |76 |-
/Goc ;L, # 44 [ic=150 mA; Veg = 1 Vi note 1 50 -
cCase ic = 150 mA; Vez = 10 V; note 1 100 300
hre DC current gain Ic = 10 mA; Vcg = 10 V; Tamy = —55 °C
2N2222A 35 -
hre DC current gain lc =500 mA; Vee = 10 V; note 1
2N2222 30 -
2N2222A, 40 -
Vegsat collector-emitier saturation voltage
2N2222 Ic = 150 mA; 1 = 15 mA; note 1 - 400 mvV
I = 500 mA,; la = 50 mA; note 1 - 1.6 v
Vegsat collector-emitter saturation voltage
2N2222A Ic = 150 mA; Iz = 15 mA; note 1 - 300 mV
I = 500 mA,; Ig = 50 mA; note 1 - 1 v
Veesat base-emiiter saturation voltage
2N2222 Ig = 150 mA; Ig = 16 mA; note 1 - 1.3 \Y
Ic = 500 mA; la = 50 mA; note 1 - 28 v
VBEsat base-emitter saturation voltage
2N2222A ic = 150 mA; ig = 15 mA; note 1 08 12 v
Ic = 500 mA; i = 50 mA; note 1 - 2 v
Ce collector capacitance lg=le®0;Vcg=10V: f=1MHz - 8 pF
Ce emitier capacitance ic == 0; Vgs = 500 mV; f= 1 MH2
2N2222A - 25 pF
fr transition frequency Ic = 20 mA; Vg = 20 V; f = 100 MHz
2N2222 250 - MHz
2N2222A 300 - MHz
F noise figure le =200 pA; Vee = 5 Vi Rg = 2 ki);
IN2222A, f=1kHz; B=200Hz - 4 dB
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